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Alexandrium spp.: 90

®&— b. fortii: 0

D. acuminata:
Alexandrium spp.: 2,980
D. fortii:
D. acuminata: 40 »
£ L]
/ : Alexandrium spp.: 30
‘lo Tt D. fortii: 0
\ D. acuminata:

SALES Al

Alexandrium spp.: 500
D. fortii: Q
D. acuminata: 0

[

Alexandrium spp.: 1,370
D. fortii: Q
D. acuminata: Q

Alexandrium spp.: 290
D. fortii: O
D. acuminata: Q
T
SEIDRAEHER 18
BEISUOM KB (cells/L)
EH S IKE KR B9 Alexandrium s Dinophysis
(°C) Pp- D. fortii D. acuminata Z DD Dinophysis
Om 10.3 30.1
; 2,980 0 40 0
O 5m 9.3 336
Om 94 334
QBAH 5m 8.8 33.7 500 0 0 0
10m 8.7 33.8
— Om 10.0 335
= 1,370 0 0 0
O=vR 5m 9.0 33.7
Om 94 334
@FEFHiE 5m 9.1 336 290 0 0 10 D.rudgei
10m 9.1 33.6
OFE 10m - - 30 0 0 0
®KiR 10m - - 90 0 0 0
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Alexandrium spp. (cells/L)

&R
OEET |QBHHE|Q-VIR |@DEHIE|GEE |OKR
1810H - - - - 0 10
1HA11H 0 10 0 0 - -
1A16H 10 0 0 0 - 0
1823H 0 10 0 0 0 -
1H30H 10 30 20 0 - 0
2A6H 0 30 10 0 0 0
28138 0 30 0 0 - -
2H20H 0 0 0 - 0 -
2H27H 0 30 0 0 0 -
3A6H 10 50 0 0 - 0
38148 370 40 0 0 10 -
3H20H 250 10 0 0 0 10
3A27H 230 70 0 0 - -
3H28H - - - - 0 0
4848]| 36,120 9,980 4,130 620 - 360
48108 1,470 1,870 6,630 1,340 50 90
48188 2,980 500 1,370 290 30 90
HEE D. fortii (cells/L)
O%ET  |QBAA|QZVIR|DEHIZE|®FEE [OXR
1A10H - - - - 0 0
1H11H 0 0 0 0 - -
1A16H 0 0 0 0 - 0
1A23H 0 0 0 0 0 -
1A30H 0 0 0 0 - 0
2H6H 0 0 0 0 0 0
28138 0 0 0 0 - -
2H20H 0 0 0 - 0 -
2H27H 0 0 0 0 0 -
3A6H 0 0 0 0 - 0
38148 0 0 0 0 0 -
3H20H 0 0 0 0 0 0
3827H 0 0 0 0 - -
3A28H - - - - 0 0
4848 0 0 0 0 - 0
48108 0 0 0 20 40 0
4818H 0 0 0 0 0 0
EER D. acuminata (cells/L)
DOEET | QBHE|D-VIR |@DEHIK|GEE |OKR
1810A - - - - 0 0
1A11H 20 0 0 0 - -
1H16H 530 0 0 0 - 0
1H23H 0 0 0 0 0 -
1A30H 0 0 0 0 - 0
2A68 0 0 0 0 0 0
28138 40 0 0 0 - -
2H20H 10 0 0 - 0 -
2H27H 0 0 0 0 0 -
3H6H 0 0 0 0 - 0
3A148 20 0 0 0 0 -
3H20H 0 0 0 0 0 0
3H27H 30 10 0 0 - -
3H28H - - - - 0 0
4H4H 10 10 0 0 - 0
48108 10 10 10 0 0 0
4H18H 40 0 0 0 0 0

Alexandrium spp.
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ORI E R ORI BT 5 AR £(2021~2023 4F)

100,000
Alexandrium spp.
10,000
>
El,OOO
g
100
g
—=2021F
10 [ —Om2022F
= =2023
1 1 1
Q’(OQ {00 Q,,‘o@
% ™ )
100
D. fortii —=2021%F
=Cm=2022
= =2023F
>
@ 10
k= B
=
E
1
o
"b% b?f? 6@:’
10000
D. acuminata ——20215F
=O=20225
1000 | = }=2023E
>
E
=100 |
=
2
10 F
1 !
©
"b% b?f) “)Q:?



